Solving Equations 1

1. 2x=32 3. Tp=42 5. 6e=144
2. 5x=40 4, 4t =48
X Z 64
—=5 —=9 — =16
6. 5 8. 7 10. 7,
y 48
J_2 7 —6
7.6 9.a
11. a+4=9 13. ¢c—-3=12 15. 34—-e=15
12. b+21=32 14. d-50=150
16. 3a+1=13 19. 4d+6=26 22. 12g-4=56
17. 2b+4=10 20. 3e—7=8 23. 2h—-9=5
18. 8c+4=36 21. 10f -3=57
J m p
=—+3=7 —+9=12 ——7=2
24. 5 26. 7 28. 6
k n q

—+6=7 —-3=5 ——-3=2
25. 4 27. 2 29. 9



Solving Equations 1

1. 2x=3216 3. 'p=426 5. 6e =14424
2. 5x=408 4. 4t=4812
X Z 64
—=9 —=9 — =16
6. 5 °10 8.7°763 10. 1, =*°4
y 48
Y21 -6
7. 6 24 9. a 8
11. a+4=95 13. ¢—-3=1215 15. 34—e=1519
12. b+21=3211 14. d-50=150200
16. 3a+1=134 19, 4d+6=265 22. 129-4=565
17. 2b+4=103 20. 3e—7=85 23. 2h—-9=57
18. 8c+4=364 21. 10f -3=576
J m p
24, 5+3=Tg 26. 5 T9=125, 28 ~—7=254
2 7 6
k n q

25. ,+6=74 27. 573=%16 29. 5—3=245



